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Given that 𝑧 is a complex number and  
3𝑧−4

5
=

𝑝−2𝑖

3−𝑖
  , where 𝑝 ∈ ℝ 

a) Express 𝑧 in the form 𝑎 + 𝑏𝑖 , 𝑎, 𝑏 ∈ ℝ 

Given that 𝑎𝑟𝑔𝑧 = −
𝜋

2
 

b) find the value of 𝑝 

 

 

a) 3𝑧 − 4

5
 =

𝑝 − 2𝑖

3 − 𝑖
 

 

 3𝑧 − 4

5
 =

(𝑝 − 2𝑖)

(3 − 𝑖)
∙
(3 + 𝑖)

(3 + 𝑖)
 

 

 3𝑧 − 4

5
 =

3𝑝 + 2 + (𝑝 − 6)𝑖
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 2(3𝑧 − 4) = 3𝑝 + 2 + (𝑝 − 6)𝑖  

 6𝑧 − 8 = 3𝑝 + 2 + (𝑝 − 6)𝑖  

 6𝑧 = 3𝑝 + 10 + (𝑝 − 6)𝑖  

 𝑧 
=
3𝑝 + 10

6
+
(𝑝 − 6)

6
𝑖 

 

b)   if 𝑎𝑟𝑔𝑧 = −
𝜋

2
 then 𝑅𝑒(𝑧) = 0  

 3𝑝 + 10

6
 
= 0  

 𝑝 
= −

10
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